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2N
X ZH -
L= B

el

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 26,762
201 et 8,712 8,712 0
02 =224l 8,712 8,712 0
O&E=s0t2 EHO0IX |RAZ+ 8,712
301 L2 A3 5,850 3,600 2,250
10 #AAHIEAZ 5,850 3,600 2,250
O&32s0t2 ouw=s 2 3oz B4
150, 0003 *30H 2 133 5,850
307 Qiz2tol & 4,500 4,500 0
02 QI2tF A8 X 4,500 4,500 0
OZEs0s AN HE SAME
1,500,000 *30H 2 4,500
405 TtakF S| 11,000 0 11,000
< 3,300
Al 7,700
01 AL EFH S 11,000 0 11,000
OFEOSHMH FFEH WA 1,000,000 *11CH 11,000
< 3,300
Al 7,700
HE BB =& 894,754 755,835 138,919
= 19,528
Al 875,226
ANZ Mol=2HAH 2= 26,944 10,089 16,855
= 3,544
Al 23,400
201 £B-2dH| 15,672 6,000 9,672
= 3,544
Al 12,128
01 At 22l 15,672 6,000 9,672
OAZF Mol=72HAH 7= Xz 15,672
2 3,544
Al 12,128
308 AXIEtM S0l A 11,272 4,089 7,183
05 XMUY= 11,272 4,089 7,183
OAZ2 HoE2HH 5 &= 11,272
CHols MR2101 e 23 371,730 262,080 109,650
207 A RO H| 79,730 77,080 2,650
02 M AR I 79,730 77,080 2,650
Ost2 AZEQNH 2 120,000 & *55JH4 6,600
OMS Office A2ZEQNH 2
280, 000& = 1764 49,280
O&H(CAD) AZEYN F¢
1,400,000 =104 14,000




2N
X ZH -
L= B

el

£AH -3 -H2A(3AH) - AH2AY -BHES Off &4 %Ei Hwsz
Oldef= ATEYN Y 985,000 = 10K 9,850
405 XHAHF S 292,000 185,000 107,000
01 MU SEFH S 292,000 185,000 107,000
OZEH 27 (2007& 0l&™ nHE)
900, 000! «200CH 180,000
O2LIE (172Xl 2007 OI& RAE)
280, 0002 *400CH 112,000
MY LS AAY Y 29 446,017 406,646 39,371
201 Lt 136,470 81,270 55,200
02 Z22%Hl 136,470 81,270 55,200
OXAEH SANES 69,270
HEFY YWELT 23,110
B2 M Al AE 30,500
NB2REUXAAEH 5,119
SMIESAI A R L 2 2,260
&S 5] 8,281
Ous AtEg 12,000
OBATEA ME3ME
200,000 +230 A » 128 55,200
207 12Oty 62,670 75,400 A12,730
02 ® A Y 62,670 75,400 A12,730
OZEH oA Al 30,0002 *1,0004 30,000
OMNQIREES ATEQ N (PCE)
54,4502 «600H 32,670
401 AlEHI 22 HH| 77,000 20,000 57,000
01 Al &b 77,000 20,000 57,000
OX&HUEYD AEBAH(E2H) 55,000
HWEHAI A& 35,000
HeY Ot 20,000
OXF UEAD AZUSAL (AR L) 22,000
WED Al& 11,000
s SIS 11,000
403 MtXI SRS X0l & 69,877 67,976 1,901
02 B 2SOl CHEHCHE AL HI 69,877 67,976 1,901
OZSIIBtAIAE X 24|
998,234,010 +7% 69,877
405 Xt &HE SHI 100,000 162,000 A 62,000
01 IMUSEFHSH 100,000 162,000 A 62,000
OlL4 A9 40,000,0002! =1 CH 40,000
OLSEFHI(ZE) 15,000, 0002 =1CH 15,000
O Y X = 45,000, 0002 *1CH 45,000




SA: EEEAD
M 93 Jls 23
e Y HES =W (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ANZF HEEHEANLAE SSFH WA 50,063 77,020 N 26,957
2 15,984
Al 34,079
201 24l 50,063 77,020 A 26,957
2 15,984
Al 34,079
01 At 22l 50,063 77,020 A 26,957
ONZPEHEIZIZBANAE “FZH M Xz 50,063
= 15,984
Al 34,079
SHHEF Jls Zst 553,127 545,111 8,016
< 2,500
Al 550,627
B4 elZet 2= 553,127 545,111 8,016
< 2,500
Al 550,627
SAAE BH |22 41,400 41,400 0
201 Let24E] 41,400 41,400 0
01 At 22l 5,000 5,000 0
OXJANMIHS =F Y2t 2,500 +2,000% 5,000
02 =24l 36,400 36,400 0
OdFHst wetd|l |X2el 16,000,000 1A 16,000
OMEgEA, S8 JIE& |
400,000 *300H 2 12,000
OMTA, S8Hs d2F X Hl 300,000 2804 & 8,400
SN 2ABL 495,227 495,261 A34
< 2,500
Al 492,727
201 Let2d] 430,000 430,000 0
02 =224l 430,000 430,000 0
OMEARA OOIH sldz 500,000 »12& 6,000
OIS (M2 H)2EL3 272,000
OHESH dst&EH 22 152,000
308 XX EHH SOl A 55,227 46,190 9,037
05 HXNHMARYE = 55,227 46,190 9,037
O=-Al2t FESHYSEAHE FE3
27,440,000& =13l 27,440
Os=sHEZ U A (BNC) 27,787,000 x 14! 27,787
402 RIZEX20l A 10,000 0 10,000
< 2,500
Al 7,500
02 BI2HCH & AF S HI 10,000 0 10,000
ORHeHY & AFAEY 10,000,000 * 14 10,000
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2N EBHEMD
My SMHE IS 2
Sl HESH Qe RS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 2,500
Al 7,500
SOAE olZet 2= 16,500 8,450 8,050
405 RHoHF S HI 16,500 8,450 8,050
01 AL EZFH S 16,500 8,450 8,050
Osd¥as I M3I ¢ 330,000 * 1504 & 4,950
OFUWE LErAsI ¢ 35,0002 = 100CH 3,500
OEHAZ A IPTESI| 72 350,000 *23CH 8,050
HH2IYZH(EEE LD 91,466 83,513 7,953
oS AY (ZSH D) 54,266 46,313 7,953
QIA2HH(EZE L) 54,266 46,313 7,953
101 144 Hl 54,266 46,313 7,953
03 RIAHAZ 2B+ 54,266 46,313 7,953
OYgREX(MNEEET) 24,786
CJlE=s 1,015, 7403 x 18 128 12,189
a2 12,188,880 / 12& »400% 4,063
ws2 Ll 120,000 x1H 122 1,440
& Mz AlH| 130,000 x1H «12& 1,560
AMZte 22+
5,985% #15A1 2«1 5« 1H « 122 1,616
HESIOHI(E,F=4)
1,015,740 »1H x120% 1,219
S OFE &Y 47,8823 1«10 479
24 1,020
rE=<2 (X1, XHH3) 1,200
OXst e (MAFE1Y) 29,480
s 1,240,000& x1H x 123 14,880
o0z 14,880,000 / 12& »400% 4,960
ns2 Xl 120,000& x1H «12& 1,440
Z A S A 130,000 x1&H 123 1,560
ANt 2 g
7,301 3 *15A1 2t+1.5+1H 128 1,972
HEFOHHI(E , F=4)
1,240,000& *1H x120% 1,488
HOFE &Y 58,4072 «1H x102 585
o5 420
IIEL (A1, XHH2) 960
AHSHIEX+E 1,215
JI2 A (E2F D) 37,200 37,200 0
22 (E2& 4 37,200 37,200 0
201 Let24E] 8,300 8,300 0
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